Lecture 1
In this lecture, we will talk about:
1. Meaning of morphology (<o rall) L sl 8y sall Jiae
2. lexemes and word-forms Ll 5 38yl &Y
3. Free morphemes (AdSy ddasi o je (55S8) 3al) Cilad ) sl
4. Bound morphemes (Al A o (45S3) A 0l e ) sall
What is linguistics? f(lall) ale) <y sall) Lala

- The scientific study of human language is called linguistics. L@l caw il Glad (uyd 3 alad)

- Alinguist: is a scientist who investigates human language in all it facets (aspects): its structure, its
use, its history, e.lialiy hlalsiin) (@il il sall gran (e Glady) A3 & 3ay o 1l) allad) ga ;g sall

- Linguistics has different branches, including, phonetics and phonology, semantics, pragmatics,
sociolinguistics, syntax, morphology, etc. ¥l ale il g ale il gual) Lgsd Loy A8kida £ 953 Lgd iy gill)
i pal) g sadl) (s laial) cily grll) Agilad ) i

Branches of linguistics gl £ g4

- As mentioned above, there are different branches in linguistics; e. :Jis Gbgll (1 4ilida ¢ 5,3 dlia

- Phonetics and phonology: concerned with the sounds and sound systems of language.
- Semantics: studies the meaning of words and sentences.
pall Bl sl 5 Gl el K 1 g ale g il guall
Jaall 5 Sl e (s )y (AN ale
Morphology L glgh  sall g JSuZ) ale
- Pragmatics: studies language in context and the influence of situation on meaning.
- Syntax: studies the rules governing the way words are combined to form sentences in a language.
sl e gl 5l 5 Glawd) (e dalll Al 50 A 0lad ) )
Al Jes JiS LS pan g day 5 A3y 5k aSa3 ) ae ) gall A o ALaad) sl

- Morphology: is the study of the forms of words. It is the study of the ways in which words are built up
from smaller units.

el Glaa g e Gl el Ly o5 Al 3kl Al jo o LK) Jl i)y s (Lﬁj&;é)}d\) Jedal) ale

- In other words, morphology is concerned with the study of the internal structure of words, and the
rules by which words are formed.

A S s il 5 LS A ) Al i oo 5 Linglghgall (s A1 5 lns
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- Morphology comes from the Greek Morph = form and ology = study. (literally: the study of forms)
(JEEY) Al 52 1 W ja) ale Jiatis= ology 5 JSE ads 0 Morph= & glisa) (e Ciela i ol 68 ) gl
Example: Jlia

- Happy — unhappy - unhappiness.

Words, Lexemes and Word-Forms ClalSl) i g A pall cbalSlf cbalsl)

- Aword: is a unit of expression which has universal intuitive (natural/innate) recognition by native speakers,
in both spoken and written language.

LIl aamily S o) sus Al I LS 5 (5 onsta) A Apallall el 52n 5 50 ckall

- Lexemes and Word-Forms :

- A lexeme: is a dictionary word that can be realized by word-forms. The word-form is the orthographic or
phonological shape in which a lexeme occurs.

(Franaall Bas gll) apnlll Cany A i peall o) Slagdl JSI) s cAlS) JSG G JSS G5k (e aedi O S 3 e saldll AS o ;s
Examples
- ‘am, are, is, was, were, be, been, being’ are word-forms of the lexeme ‘BE".
- ‘have, has , had’ are word-forms of the lexeme ‘HAVE".
- ‘do, does, did, done, doing’ are word-forms/realizations of the lexeme ‘DO’.
- ‘Wife’ and ‘wives’ are word-forms of the lexeme ‘WIFE".
- ‘Small, smaller, smallest’ are realizations of the lexeme ‘SMALL’.
Morphemes

- As mentioned above, morphology (the science of word forms) is concerned with the study of the
internal structure of words, and the rules by which words are formed.

LS (S el B 5 lalS) g Alalall Al Al g aled (Al JISa) ale) L sl gd ) sall codle) S5 LS
- Words consist of what is called morphemes.
) sall (pan Lo (e LSl () S5
- Morpheme: is the smallest linguistic element capable of having a meaning or grammatical function.
Apidghy o) e elhel o il 5l paic jral s 1ad)gall
- Example: sell-er-s

- Morphemes have no internal structure other than phonological structure.
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- Thatis, they cannot be further analyzed into smaller elements.
- Naturally, the boundaries between words are also boundaries between morphemes.

sl el e Al JSa L Gl ) sall
Cilad ) gall o 3 gan Lol s ClaISH a3 gasdl (JIad) daday

- Examples:
- Over-estimat-ion / dis-pleas-ure / nerv-ous
- One morpheme boy (one syllable)
desire, lady, water (two syllables)
crocodile (three syllables)
- Two morphemes boy + ish desire + able
- Three morphemes boy + ish + ness desire + able + ity
- Four morphemes gentle + man + li + ness un + desire + able + ity
- More than four un + gentle + man + li + ness anti + dis + establish + ment + ari + an + ism

Free Morphemes Vs. Bound Morphemes

-  There are two types of morphemes:

- Free morphemes: are morphemes which can occur as independent words.
- Thatis, morphemes which can stand by themselves as single words; e.g. guide, go, open, etc.
B3ke 4SS Ao jiay Wasa g iy 138 5 Aliee AaISS Enn () (S Gl o 13 gad) ciladd ) gal)

- bound morphemes: are morphemes which cannot normally stand alone, but are attached to other
morphemes to form a word,;

L& 5 AV Clad ) gan Jadi i iS5 clada o) (il () sale (S Y ) o rda el cilagd | gal)

Example: -er (writ-er), -s (writ-er-s), etc.
Example
- The expression ‘reactivation time schedules’ can be morphologically analyzed as follows:

‘re-act-iv-at-ion time schedule-s’

‘re-, -ive, -at(e), -io, -s’ are: bound morphemes, a3 ad s

‘act, active, time, schedule’ are: free morphemes. s ad)se
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B: Notice that;

- In‘reactivation time schedule’, all of these morphemes occur in a single word, despite the spelling.

- What is important is that ‘act, active, time and schedule’ can occur as isolated words in other

contexts.

- Therefore, they are free morphemes.

-:L'Ji laaY -ddiadl

Gl () 9o agall AiSa¥) Aualill (e pe I e saal g AalS 8 Ciaa Slaid ) 50l S (reactivation time schedule’)iK)

Practice

B lad ) se g8 A5 oAl Clilw 8 4 e S 8 Gaas ) (S (act, active, time and schedule)

- Isolate the morphemes in the following words, and say whether they are bound or free:

Carelessness
Translation
Readers
Fishing
Movement

Undressed

Knitting needle.

Care-less-ness
Translat-ion
Read-er-s
Fish-ing
Move-men
Un-dress-ed

Knitt-ing needle

Friends
Inadequate
Disqualified
Helpful
Unacceptable
Laughter

Supportive

Friend-s
In-adequate
Disqualified
Help-ful
Un-accept-able
Laugh-ter

Support-ive
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Lecture 2

In this lecture, we will talk about:

Allomorphy
Types of allomorphy

- Inour last class, we said that a morpheme is the smallest linguistic element capable of having a
meaning or grammatical function.

- We said also that morphemes have no internal structure other than phonological structure.
- And that morphemes cannot be further analyzed into smaller elements.
Agidilig sy o maslhel Lo o8 sl paic aal @ sl O US3AGL 5 bl i (aga)

sl IS Gy a1 (S Ll Gl e sall (f Lyl Ll -
il ealie L Lellat (S Y 1 e sall Liagh

Allomorphs

o However, a morpheme may display allomorphy; i.e. have more than one form.
o Each of the realizations (forms) of a particular morpheme is called an allomorph.

Aal s 0S5 e SST | ) sl JSG e ey 3B oy sal) celld pag
cijgagh agle Bllay ad ) gl JKE) e pae S5 IS I

Allomorph: one possible form of a particular morpheme, the forms /s/ z/ and iz in cats, dogs and horses are
allomorphs of the plural ending s.

There are different types of allomorphy:

1. Phonologically Conditioned (determined) Allomorphy
2. Lexically Conditioned (determined) Allomorphy
3. Morphologically Conditioned (determined) Allomorphy

4. Suppletion

Types of Allomorphy

1. Phonologically Conditioned Allomorphy

- The English plural morpheme ‘-S’ has three allomorphs that are phonologically conditioned (i.e.
determined by phonology).

() ¥ ale U8 (e 230) Janall 5l o g piall (g salll pUail) 8 Gy ga gl AN (e )5S 4 SalaiV) Aall) 8 aa))

Syntax and Morphology Page 5



6

- That is, the English plural morpheme ‘-S’ is pronounced as:

B 8 e se 8 LS Ghis (S)atsall 58 G 5lail) Al b gand) o ixg a5

-[s] after sounds like [t], [K], [p] bits, tips, tacks,
- [iz] after [s], [2] bosses, houses, bushes
-[z] after [d], [g], [N] pads, dogs, hens.

-The variants (different pronunciations) in the pronunciation of the plural morpheme ‘-S’ are phonologically
conditioned allomorphs.

gl Jana g) Jag pdiall Cijgasl 38 () gand) ad jga o Gl 8 )yl

- This is because the pronunciation of the plural morpheme *-S’ (as [s], [iz], or [z]) depends only on the
phonological characteristics of the element (sound) to which it attaches.

Ay Bleiall( saall) jeainll A5 pall ailiadll e il ading (S,1Z,Z ) 8 WS (S) agyse shi oY <lid
- For example, when it attaches to [g] sound, it is pronounced as [z]: as in dog-s
dog-s die (Z) I I 3hild (G ) Lelbad 2ie 1l

2. Lexically Conditioned Allomorphy

Consider the following plural words:
(A) cats, dogs, pens, letters, rooms
(B) sheep (plural of: sheep), oxen (plural of: ox)
- The plural in sheep and oxen is lexically conditioned.
Leaas Jare 8 b e 4 (Oxen ) 4K ;5 (sheep ) 4K i aeall
- This is because it is determined by the individual words and cannot be predicted from other principles.
A (3l Gk e il LeiSa Y 400 58 LS Cavny Ba3na LY 18
- That is, forming plural in this way (as in sheep and oxen) applies only to a small humber of words.
SN (e JlE o e Jafh (3uat g Ay Hlall oy aendl Rina JiSIS ) ey

- In other words, the plural of the group of words in example (B) cannot be predicted from the normal way
of forming plural in English (i.e. by adding ‘-s’) as in the group of words in example (A)

(A ) Dl 3 L€l de sana 8 LS Aalall 4550l e (B ) JUid) 3 S e gana (e gen) dapa 585 (Say Y ¢ (5 Al Sl
- Adding *-s’ to ‘sheep’ and ‘ox’ will result in incorrect plural forms: *sheeps, *oxes

- Likewise, adding ‘-en’ to ‘cat’, ‘dog’, ‘fox’ will result in incorrect plural forms: *caten, *dogen, *foxen).
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3. Morphologically Conditioned Allomorphy

- Here, the choice of the allomorphs -ceive- or -cept- is systematically determined by the morphemes
added to them.

Al Ciliaall o ) sall Adasd 53 Lingia 2330 58 (CEIVE OF CEPL ) o0l L) clia
- Consider the following examples:
(A) receiver, receivable; deceiver, deceivable; conceivable
(B) reception, receptive; deception; conception, conceptual
- In (A), the allomorph -ceive- is used because the morpheme added to it is: -er and -able.
(er -able ) sa OIS Gliaall aid ) sall (Y ((CEIVE) Sisasl padinl (A) Jhall
- In(B), the allomorph -cept- is used because the morpheme added to it is: -ion, -ive, and -ual.

(ion-ive-ual ) s ¢S bl ad sl Y ((cept) Csesl paiiu) (B ) Jial b

4. Suppletion

- Suppletion is an extreme form of allomorphy in which two completely different roots (words) realize
(are forms of) the same morpheme.

o) sall i (d\&i}i) a8 (QlalS) Lobad Aaliaall Al e (il (A (Agsasl e caphaia JSI a1 bl (Suppletion)

- ltis a phenomenon whereby one lexeme is represented by two or more different roots, depending on
the context.

Bl o adied ddlite )saa o SEI ) G apnslll iy Cum 5 alls Ll
- For example, the verb 'go’ is represented by ‘went’ in the past tense and ‘go’ elsewhere.
oA A B (go)s aldl G ((went) 4l (go) Jadll 1l
Examples:

- go/went
- bel/is/was/were/am
- good/better/ best
- bad/worse/worst

- oneffirst.
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Practice 1:

- The choice of the allomorphs -sume- or -sump- is determined by the morphemes added to them.
(explain in light of the following examples).

(A) Consumer, consuming, consumable.

(B) consumption
Practice 2:

- The choice of the allomorphs -duce or -duct is determined by the morphemes added to them. (explain
in light of the following examples).

(A) producer, producing, inducing,

(B) induction, introductory, productive, conducting
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Lecture 3
In this lecture, we will talk about:
Affixation
Affixes Gl
Prefixes, suffixes, infixes Jalaill g @al sl g ggal sl
root, stem gaall 3l
Affixation

- Affixation means the attachment of affixes.

Gl ALl vie ) dglee - Gal sl ay o) Ciliay Lo i 1 (Affixtion)osSsY)
- Affixes are bound morphemes that occur in more than one word.

Ban) g dalS (pa JiS) B diaal Al da Dlial) cilagd ) gal) & ) sl)

- Affixes have different types, including:
1- Prefixes
2- Suffixes
3- infixes

1- Prefixes:

A prefix is an affix that is attached before the root (word). Prefixes are used in English morphology.

(L sl sall) QS ale Aand g 3lai¥) Aall) 8 w325 () sal) (el ) y3all 08 AS 3la ) oy o) & s

- In English prefixes are always Derivational (i.e. they change the meaning of the lexeme)

(Aranza Ban 5 -AalS)) aruSll) e st Ll gl cliidie Lails (o £50) 54

- Example: compare:
Happy vs. Un-happy:
- They are different Adjs with different meanings.

- More examples on prefixes:

- In-correct
- Dis-arm

- Im-possible

Syntax and Morphology
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10
- Mis-understand
- Pre-judge
2- Suffixes:
- A suffix is an affix that is attached after the root (word).
- Suffixes are used in English morphology.

(L shsy sall) QS ale Aand 5o 3lai¥) Al 8 aniinds Gl sl c(AalSI ) 3adl amy S 3ol oy o & (350

- They can be:
Derivational: constitut-ion-al-ity ==== V| N| Adj.| N
OR
Inflectional (i.e. do not change the meaning of the lexeme): cat-s ==== same lexeme; no change in meaning

ol G Aia a5l b ) sl e L satS imall i oy Allall o3 5 (Derivational)3Eisy) sk ge 0S8 o) Ll gal sl

sl ol b el i Y5 1ol e Y (Inflectional) st

More examples on suffixes:

Go-es Inflectional type
Wonder-ful Derivational
Creat-ive Derivational
play-ed Inflectional type
Happi-ness Derivational

3- infixes:

- This is a third type of affixes.

- Aninfix is an affix that is placed inside (in the middle of) a word.

- Infixes are not normally to be found in English.

- But they are common in some other languages.

- However, it is possible to see a kind of infixes in certain expressions in English.

- That s, infixes are occasionally used in casual or aggravating circumstances by emotionally aroused
English speakers.
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G b Aail LSy A salaiY) Aalll 8 Lggle ) giad) S Y sale Aaal) - RS oy 8 AEaSU JA) 585 — a5l (pe Gl £ gl 13

A iV ARl bl el Gy 3 A (e L 5i s i ) (Sl (g lld ey (5 AN Clall
Al ARl (ppalSial) Calal s 3lSlae JMA (he il 5l 2 Ul Cig ylal 3 Ubal 2034 infixes o !

Examples:

-Hallebloodylujah “They are insert one word in middle of word due anger like bloody in middle of Hallelujah”

-Absogoddamlutly “They are insert one word in middle of word due anger like goddam in middle of absolutely”

A person may express his/her aggravation when speaking to someone by screaming:

‘Tell him | have gone to singabloddypore.’

Flomall Gash e Al paddl Suadll die dale Kl ge e ad

A comparison between prefixes and suffixes:

Prefixes Suffixes

Bound morphemes which occur only before other Bound morphemes which occur
morphemes. following other morphemes.
Examples: Examples:

un- (uncover, undo) -er (singer, performer)

dis- (displeased, disconnect), -ist (typist, pianist)

pre- (predetermine, prejudge) -ly (manly, friendly)

Roots and Stems

Root:
- Theroot is that part of a word which remains when all derivational and inflectional affixes (prefixes and
suffixes) have been removed.
(Prefixes- Suffixes )_Z_H\JQ\J\) Al CalaaSU) 48l Al ) A Ladie 83 gF’\S\ PN NPT REIR Y SN |
- ltis the basic part of a lexeme which is always realized and it cannot be further analyzed into smaller
morphs.
sl adhse ) Lebilas ey YV 5 Liaily (Sia ) (pasaall Bas gl ) aneSU e ol ¢ a0
- Roots are always free morphemes.
B Clad se o Ll 50
Example:
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in 'un-help-ful-ness':  ‘help' is the root
Stem:
- A stem is formed when a root morpheme is combined with an affix.
- Other affixes can be added to a stem to form a more complex stem.
Jaiad JSI e gda (S stem gasll Lgila) (S AV Galsll) - 28 ae ash ) se m gl &5 Lanie gaall JS5 &5
Example
Stupid = Root
Stupidities
Stupidity = Stem

More examples :

Root: believe (verb)
Stem: believe + able (verb + suffix)
Stem : un + believe + able

(prefix +verb + suffix)

Root: system

Stem: system + atic

Stem: un + system + atic
Stem: un + system + atic + al
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Practice:

- Analyze the following words into morphemes using the model given below:

Prefix (es)

Example: inequality in-
- Happily
- inactive -In
- undercooked -under
- unlikelihood -un
- lllogical -il
- relationship
- ungrammatical -un
- sensitivity
- prototypical

- unfriendliness
- interdependence

- rudeness

Root Suffix (es)
equal -ity

-happy -ly

-act -ive
-cookK -ed
-like -li -hood
-logic -al
-relat -ion -ship
-grammatic -al
-sens -itiv -ity

Syntax and Morphology
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Lecture 4
In this lecture, we will talk about: 108 yaald) (S Ciga (ual) 128 A
Derivational morphemes JBEEY) Clad ) gall
Inflectional morphemes (Gorall) dnle Y Glad ) sall
Inflection Vs. Derivation G M (i wall)el sy

- Inflection and derivation are manifestations of affixation (prefixes and suffixes).
(G50 5 1590 5)) (Affixation) (S8Y) jalae (e Laa( o uall) Gl ye Y15 GLELY)

(A) Derivational morphemes:

- Can be prefixes or suffixes.
- Create one lexeme from another. For example:

compute > comput-er > comput-er-ize > computer-iz-ation.

Examples:
- (Der. morpheme) + Root + (Der. morpheme) ----> result in:

1- a new word with a new meaning (a change in meaning):

Root ---->  Der- + Root ---->(nhew meaning)

E.g. happy ---> un-happy

connect ----> is-connect

correct ----> in-correct

A BEEY) clad sall (A)

(Prefixes or suffixes)sal sl ) (salsall (e Ll 0585 () (S
1JGe A dpenaa B2 e (e (aes]) dpenaa 33 jie L)

Compute (J=8)> comput-er(~~') > comput-er-ize (J=8)> computer-iz-ation.(~ )

) sall Ailal a3 Q3 ey 5 5 3 330 Jad N Jsad (i) ) sall 4 Lial ladey s ausl zraal (1) (0sSiull) ash ) sall d8lial vie Jadll LaY
ol zuald (ation)

e i (Gide a9 + AalS)) A+ (300a ad ) ge

(el (B st Caa) dos e pe By &S

2- Root ---->  Der- + Root ---->(new meaning)
3- E.g. happy ----> un-happy prw L
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4- connect ----> dis-connect Juaia ye
5- correct ----> in-correct Ja e

Tk

2- A change in the grammatical class; i.e. the part of speech/syntactic category (e.g. a nouns becomes an Adj.)

For instance:

- Noun + Der. morpheme ------------ > Adj.
E.g. boy +ish e > boyish
- Verb + Der. morpheme -------------- > Noun
E.g. clear+ance @ = - > clearance
- Adj. + Der. morpheme -------------- > Adverb
E.g. Exact+ly e > exactly
Aba sy o) e & gail) A4 Quils ) Qladl) Qils e seg sl i) B s -2
Jla
- Noun + Der. morpheme ------------ > Adj. dda = (Flla ad ) ga Faul
E.g. boy +ish - > boyish
- Verb + Der. morpheme -------------- > Noun ol = (Bilie ) ge +(ad
E.g. clear+ance - > clearance
- Adj. + Der. morpheme -------------- > Adverb Ja = Bide ad )50 +4da
E.g. Exact+ly = e > exactly

(B) Inflectional morphemes: creates the form of a lexeme that is right for a sentence:

Aleall a0 585 S0 s jhall (K 5 ; (i ) ol Y1 clash ) pall (B)

Examples: Inf. morphemes create: Al oY) Glad ) sall man
- the plural form of a noun (door-g). .Y Al 38 (S) <ia ddlal e aesll JS4
- the past tense form of a verb (start-ed). (ED) bl 31k oo Jaill lapll sl JS5
- 3rd person singular form of a verb (he start-g).d=ill (S) dilal &5k oo 2 ) CIA (adill Jadll JS5

- The group of inflected words formed with a particular lexeme (e.g. child, children; drive, drives, driven)
is called a 'paradigm'’.

Syntax and Morphology Page 15



16

- Each specific item in a paradigm is called a 'word form'.

- As obvious from the above examples, inflectional morphemes do not change the meaning of a word,
but

- but they have a grammatical function in the sentence.
- They never change the part of speech/syntactic category.
- So, we start with a noun, for instance, and finish up with a noun.
For example:
Inflectional morphemes: -s, -ed
He sail-s (V.).
He sail-ed (V.).
- So, we can say that inflection produces forms of lexemes,
- while derivation produces new lexemes (new meanings).

~ul Lale lhal (child, children; drive, drives, driven) Jis L Aala <y jie GISE 4 prall QLK (0 de ganae lllia
Al (4 puall janall ¢ sene 25 (paradigm)

( Word form)aasll Js& e (paradigm)d) o cpes s x> JS

ade (5l agic aaly IS Lin Paradigm Lele 3l de gaaaS Jadll il g U 5 J ¥ < paill (drive, drives, driven) :pesagill
word form A&l JS&

Alaal) iy Ay Ll (S0 Al e s Y ol s Y1 a5l 1) il a grial g ob L

Lyl sl 8 s ansly fi Lo i JUal) Qs e 131 Tyl 2 mil) 21 503 Y A pe W) il sl

verb and still verb. 4 sail)l 4l ;i ¥y el ity ¥ Jadl) e agllasl die (s-ed) dul_e V) Clad ) sall

saaa ey s Gl e Lgie i (derivation) GEiEY) Lady, <l el (e JISAI Lgie &8 (inflection) < e ) o) Jsii o) gl 13
Derivation Vs. Inflection (sl ) a lanay)

Summary of criteria for distinguishing derivation and inflection:

(Copall) s e ¥ 5 BEEY) ( uall julad padle
1- Derivational morphemes change the meaning of a word.

e.g. happy ------ > un-happy

- While inflection morphemes do not change meaning (e.g. when they express agreement:
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e.g. theysing
VS.
she sing-s.

- The loss or addition of such an inflectional feature like number, or tense would be a major upheaval
(disturbance) in a language.

- Thus, inflection tends to be an obligatory convention which is adhered to because of grammatical
requirements.

happy- unhappy : Jie 4l Jxa jpas 4G Clad ) sall -1
sl iy ol (they sing —he sigs) Jie isall yusd ¥ dul e V) Clad ) sall ety

05Se Y e (Camall)l e W1 1A AR 8 € Gl el 5 )i () s imall o) a8 Y1 i Al e W1 5 el o3 e b sl ) 2LaY)
o sadll ARl ae ) il (e 4y 2l Ll 31 Ll

2- Derivation may change the syntactic category of a word

cheer (N)
cheer-ful (Adj.)
cheer-ful-ness (N)

- while inflection preserves the category
cat (N) --------- > cat-s (N)
write (V) --------- > writ-es V)

Aol Rl e Jadlay Gl e ) Laiy AWIKH 4G gail) 280 iy o) Sy BlsY) -2
3- Inflection is the last thing to be added before the word is inserted into the sentence.

- Thus, inflectional morphemes are typically on the edge of the word (i.e. '‘outside' derivation),
EX:

oganiz-ation-al
- In this word, all suffixes are derivational, so we cannot say which one is closer to the root.

Black-en-ed

- The derivational suffix -en is closer to the root than the inflectional suffix -ed.

- We cannot have *Black-ed-en.

- compare also: pig-let-s  vs. *pig-s-let.
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7SS ol 8 (S5 bale Al e V) e sl by Alaadl e ZaS Jaa) a5 o J Gy o (S s 5 A s l e -3
oganiz-ation-al : J% (34LY!

Black-en-ed : oAl Jbe Al jaal ol aal s (ol J 58 LSy Y 13¢] 48851 o Galll) JS AalSl) o2a 3
pig-let-s  vs. *pig-s-let. : o by (B (ed) Anle V) A3 ge 3l V8 a (en) GEEY) daaY La
4- English inflection is expressed by suffixes only and never expressed by prefixes.
EX. he play-s ten apple-s  she play-ed
- Whereas English derivation is expressed by suffixes and prefixes.
EX. True --------- > un-true
help --------- > help-ful
- Thus, in English, prefixes are always derivational
- While suffixes can be:
Derivational: constitut-ion-al-ity
V ---> N ---> Adj. ---> N
OR
Inflectional
cat ---->cat-s (same lexeme)
(prefixes)al Gal b e sy Y 5 (suffixes) L (5ol sl Aasd 50 4 5alas¥1 Gl & Q) e e o -4
he play-s ten apple-s  she play-ed
(prefixes and suffixes) G sll s (52 salls Lo oy 4 5alad¥ ARl 8 BELEY) Ol s (4

Al o) o ABEEN Lo (585 ga) ol Laiy | ABEIES ¢y 65 Laila o3l gl o)) paldind

5- Inflection uses a closed set of affixes.

- It is usually said that the set of inflectional affixes will be considerably smaller than the set of derivational
affixes.

That is:
- Itis NOT generally possible to add a new inflectional affix to a language or to take one away.

- we could not, for instance, wake up one morning and start using in English a dual marker as is found in
Arabic or Greek.

- Neither could we ignore the singular/plural distinction.

Syntax and Morphology Page 18
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Clint-nomics

It is possible, on the other hand, to suddenly start using a new derivational affix, as is shown by the

success of forms in ““nomics’ over recent years
E.g.

--> from Clinton
Reaga-nomics --> from Reagan

Thatcher-nomics --> from Thatche

GEEY) 13 (5 4l 5 Bl S 5a¥) )] and (go A8ida o3

é;\jm (e 3w Z\L)m e..\;:\.uu (&JJA\) &-l‘)c\}{\ -5

AEEAY) 3al sl Ao sane g0 S0 ral & 5Si A) e Y1 Bal sl Ao sana o)) U Le sale

NP ALY

e a5 gl cada (S Y dalll ) saos G jel A8aY Adlaal (Sad) G Gl ale JSE

Al gl 5l A pall Al 5 el g LS il Riea w38 (o) SV ARl 8 LiSay Y gl

adl 52 s dalati o ey ¥

3 AV Gl gidl JMA daa gall 73l ~las 2 LeS sauaa Alend) s o) aladil s fan o) cSaal) (e -5 A) Aali 0
SR & gl il #lad (e iy Salsla 2 Blad i e - A dali (e

Inflection

Derivation

Does not change meaning: produces word-forms of a single
lexeme

dannall Dlajdall Baaa JISE) 2355 1 imall s Y

Changes meaning: produces new lexemes from
old lexemes

A8 33 jia (e il B3 jdall s JSI i 1 mal) s

Preserves syntactic category

Ayl 4l e Jadlas

Changes syntactic category

4 gl A5l s

is expressed by suffixes only.

is expressed by suffixes and prefixes

Gl sl 5 (50l ol Adand gy Lgie s

involves few variables (a closed system).

(RanamBlia pUad) il paiall (pa Jil8 23e (anals

may involve many variables (an open system).

(¢ side eLL'\.'a) Gl yaatial) e ddell Cpanali 28

further from the root than derivation

closer to the root than inflection

Syntax and Morphology
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Practice

- Analyze the following words into morphemes, indicating which of these morphemes are derivational

and which are inflectional.

Learners learn-er-s
-er (Der.): changes syntactic category -S (Inf)
Desirable desir-able (Der.)
Disliked dis (Der.)-like-d (Inf.)
Loosen loose-n (Der.)
Stupidity stupid-ity (Der.)

More practice:

Broaden (Der) — width(Der) - socialist (Der)- falsehood - closure
straighten - clockwise — vaccinate - gangster
warmth hopeless- twofold - trial - accidental — selfish

advisory - likelihood — friendless —idealist - kingdom

boyish —various - stepwise - thankless — global historic — penniless- disclose- begins(Inf)- wanted(Inf)-

desks(Inf).

Syntax and Morphology
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Lecture 5

In this lecture, we will talk about: 108 Cnaaldl (5% g ) 128
Content words
Function/grammatical words

- Words are divided into two categories: Do ) st Gl

(1) Content Words. 6 sinall CilalS

(2) Grammatical (Function) Words (Aiada M1 4 sl <)
- Function words are closed class words. LSl yo Adlae 458 a5 el Cailla

- Content words are open class words (new words are being added in every language).

Aal JS ) et o) S aaa lalS) HlalK) pa s glag 408 gl AL R
90 A9 Ay $a

(1) Content Words

(1) Content Words:

Content words are words that have meaning in that they refer to objects, events and abstract concepts.

They are words we would look up in a dictionary, such as "lamp," "computer," "drove."

Content words are marked as being characteristic of particular social, ethnic, and regional dialects and of
particular contexts.

33y aalia s laal ¢alual ) jady e cllic Gl s s giaal) cilals

"drove" "computer" "Lamp" Jie (sl 8 lgie Sy oad QLS a g
Orre Bl (s 51 5 (e il 5 (8 je ¢ adiane Clagd alliad (e b jlicly GLlSl (5 sias
For example, how do you say ‘a car’ in the following dialects of Arabic:

o Egyptian dialect: 9900 gad) Aaglll 5 4yl daglll 8 "5 Ll 3l a1l
o Saudi dialect: Sobe dw e

New content words are constantly added to the English language, and
Old content words constantly leave the language as they become obsolete (outdated).

Gl Bl paiuly 4ie GLlS (i Jam)el y35 il o ginall SLalS o 45 Rlai¥) dalll 3 ) jpainly s GlalS 4l L’ anall 6 giaall S
A 3alaiy)
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- Therefore, we refer to content words as an "open" class.

- Nouns, verbs, adjectives, and adverbs are content parts of speech.

G sine sl 3al 0a s Jad) 5 lieall (Juad¥) esland) 1( ) peinds uan cilalS L) Cilimiyia side 58S (5 ginall cilalS ) i Lils Gl

L)
- - Content words include: aga
- Content word Example
- Nouns John, room, answer, table
- Adjectives happy, new, large, grey
- Full verbs search, grow, hold, have
- Adverbs really, completely , slowly
- Numerals one, thousand, first
- Interjections eh, ugh, phew, well
- yes/no answers yes, no (as answers)

(2)Grammatical (Function) Words

(2) Grammatical (Function) Words: (Aaida 1) ) 4 sail) Ll

- Function words are words that exist to explain or create grammatical or structural relationships into
which the content words may fit.

- They are often best defined by their function.
- Words like "of," "the," "to," they" have little meaning on their own.

- Such function words are much fewer in number and generally do not change (English adds and omits
content words, not function words).

5 sinall ga a3 55 28 ) LS A ) g cliSle oL o) Lea i) il 3 s skl gl LIS

Ll s 5ok e Lol et Jndl 5% L L

. ... ‘5.”3 &M M ||Of’|| "the," "tO," they" dlﬂ ‘L\LA&S&‘

LS Lape 4 5ai¥) Aalll 8 (5 ginall UK 8 Caday g Ciling) ki Y e Losas 5 23al) b L3S0 J8 s dida ol il o clalS)
(a5 DU Aals 5l

- Therefore, we refer to function words as a "closed" class.

L) e Al 2l Aada ) Ul N i i el
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23
- A person cannot easily invent a new function word; e.g. a new preposition or conjunction.
sl g ana all Cooa e s A dads o SIS A sy (il Y (S Y
Now, look at the following: O | V=L
Egypt
in the

the spring

- Like many people, the first time you see the graphic above, you read ‘Egypt in the spring’.
- Look again: it reads ‘Egypt in the the spring’.

- Here, your expectation of one definite article (the) affects your perception of the existence of two
definite articles.

- The trick does not work if we write ‘Eqypt Egypt in the spring’ or ‘Egypt in the spring spring’ (i.e.
repeating the content words).

- The key is to repeat a function word because we tend to take words like ‘the’ for granted.
- Note that: if we took the function words out of speech, it would be hard to figure out what was going on.
‘Egypt in the spring’. Lis| & a5 <o g Gilad) JEall 8 AUSH 3 jka5 Jgl e alil) (o SN Jia
Egypt in the the spring’. Ul AL Ledaad G gu ; haill sale e
O e (the <y =il 3131 Jlad s 5 Jaadl old S ol e 80l culd the saal s iy ya0 51l clllia o (e obilad 55 clia

(wlall (s sina ) S5) ‘Egypt in the spring spring’ s ‘Eqypt Egypt in the spring’ Wuls svie Jaai Y sUadll 5 deaall oda

A e el the Jie ClalS 385 ) daed WY duiids ol el ke ) g ~lidall g
(S e A e il e (0 sSms 4ls (Uadl) (e Ayl gl LS L3A) 131 ;) BaY
Example: can you guess what the following structure means: 4l daall e i le (pedd e Ja
‘took function words speech hard figure what going on.’
- yes, it means the first sentence above: B Y AdaaBlall 8 Alaadl iad Le i o4 cand
‘If we took the function words out of speech, it would be  hard to figure out what was going on.’

- But it was difficult to understand it because we removed all the function words that show the
relationships between words.

LS G A8l W a5 Al Al gl LK S L U 31 LY L (S Lgagd oS0
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- Pronouns, prepositions, conjunctions, determiners, demonstratives (e.g. this, those), certain
adverbs (e.g. very & not) and certain verbs (those with little or no meaning; e.g. be, must or should)
are some function parts of speech.

be, must or ) J=dYl sass (very&not) JissYl ass (this, those)dis sl sl 5 calaaaall ¢ gl jill ccadaall g jall Cag a ¢ ilaal)
(Uaal) o) el (aey D sda < (ShOUId

- Function words include: aga
Function words Examples
Prepositions of, at, in, without, by, between
Pronouns he, they, anybody, it, one
Conjunctions and, when, while, although, or
Modal verbs may, must, should, can, must, ought, need, etc.
Auxiliary verbs Be (am, is, are), have, do
Particles no (e.g. no one) not, nor, as

Differences

- Note: The same lexical item can function as either content or function word, depending on its function
in an utterance.

A il s e slaie VU AWl (5 ginaS o Ayl oS Lal Jamy O (panaall eaial) (il Sy 14BN

Example 1:
| have come to see you "have" is a function word &k (auxiliary verb) aclua Jaé
| have three apples "have" is a content Ssina word (full verb) J=
Example 2:
One has one's principles "one" is a function b word (pronoun) =
| have one apple "one" is a content S Fina word (numeral) 2
Example 2:
I have no more money "no" is a function &b word (a negative particle)
No, | am not coming "no" is a content ssis= word (Yes/No answer)
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Practice
Practice (1):
- Identify each of the following words as a function or content word, and give the reason:
tall adjective-content word is (in: ‘he is playing’) auxiliary word- function word
your  pronoun-function word but conjunction- function word
go verb- content word dream verb- content word
and conjunction- function word stream verb- content word

happily adverb — content word

Practice (2):

- Classify the underlined words in the following passage into content VS function words:

‘Sara Ferguson stared out the window of the café. She could not stop thinking about her dad. She was
living at home with him, attending college full time. Last night her dad was complaining of chest pain. It really
scared her. She had never thought about losing him. Sara was four when her mom died. Her dad had always
been there for her. Now she could not stop worrying. He was only 49. She needed him.’

More practice:

- Classify the words in the following passages into content VS function words:

‘Sara watched people go in and out of the shoe store across the street. It reminded her of when she
was a little girl. Sara started working when she was 10 yrs old. Every Saturday, she walked to work with her
dad. He owned a shoe shop in Los Angeles. Sara liked hanging out with her dad.’

‘She also enjoyed helping the customers pick out shoes. Her dad paid $1.50 for every pair of shoes she
sold. The most money she ever made in one day was $15.00. Sara’s dad taught her how to budget her
money carefully. Each week, she wrote down how many pairs of shoes she sold. She counted all her money.
Then Sara put 75% in a savings account that her dad opened for her. She kept 25% to spend.’
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Lecture 6
In this lecture, we will talk about: 108 Eyand) (9 g ual) 128 A
Lexicon Soall anaall - pald — LI Slae (10 e
Productivity AaliY) —aas JSG a0d00 Baaa S 2 e 3 )
Blocking (e oo e palite — il

Lexicon and Productivity

Lexicon:

- Alexicon refers to the inventory (list) of lexical items, seen as part of a native speaker’s knowledge of
his or her language.

() Aal) Gl S50l 38 jaall (e 63 gl e (53Rl 138 Ul cenaall jealiadl (e (@) 0553l ) anaall s

- Thus, a lexicon is the mental dictionary that language users must be equipped with, in addition to the
grammatical rules of their language.

Al A jall Ay sl ae ) gl (N ALLYL dalll Greddine ae Jeae 055 O i lie aane 4 (lexicon) Sl

- For example, English speakers know that the word ‘subject’ can be used as a verb and as a noun,
depending on the way we pronounce each.

Lage JSI 3l £l e eV S 5 Jnd€ Lol (Saal (e (SUDJECE) 2 () e i) Ay uimiall «Jid) s e
saa e

Not all words one speaker knows are also known by other speakers.
oA (fiaaie (ol Liagl 485 jre ()5S0 Lty A LSl S ) (5 )5 el G

- Thus, the mental dictionary (lexicon) of one speaker is never completely identical to any other
speaker’s mental lexicon.

LY e ja) Gaata gl gal ial) anaall Lalai Gilay ¥ 3l 5 Gaasia 53 (lexicon) liad) aaaall ¢ Uil
- The lexicon contains more than words.
LS 2 e e S ey (lexicon) Sial) asal)
- For example, affixes, such as ‘-er’ can be assumed to be in the lexicon.
il anaall e (65 (b Ll ) (Saal) (0 e Jie (affixes) Galsll Jial daw e
- Speakers know and understand such affixes and readily attach them to new forms.

s JSE el LSl L) il 5 Bl 0 Bl 3 ple e ¢ ghanial
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- Complex language forms (e.g. affixed inflected forms like ‘talk-s, go-es, etc.’) are also included in the
lexicon.

s Al ) go-es  stlak-s ;AU Ala) aey Jedll Cojen USG5 1 Jie 1 el anall 3l b sabeall JISEY) Jadii

- For example, a speaker of English must know the third person singular of verbs (e.g. talk-s, go-es, say-
s, speak-s, play-s, etc.) because it does not follow the normal rules of English.

Ag eV ARl Aotal) ) gl a Y LY JladY) (e ClA 3 jaall sl ale e ¢S o) Gang A3l Aalll Gaanie (Jial) Jas e
- Consider also a famous complex word (used in Irish political discussion in the mid-nineteenth century):
‘anti-dis-establish-ment-ari-an-ism’
(e il )8 Caaia & 40l ¥ Lpulyad) 8L 8 03 1) 3 yeil) Baeall Al Liay) s

- The pieces of this word together do not tell much about its meaning (opposition to denying special state
recognition of a particular religion).

(opposition to denying special state recognition of a particular religion)li=ae (o I mia 53 Y Lae dalKl 038 ¢l 32l

- If you are a speaker of English who happen to know and use his word, then it must be stored in your
lexicon.

Sl palall el anaal) 8 453 (S5 () camg 1)) cadlalS aadiinng g aley 31 3 5alaiV) Al Saate e i€ 1)
- This is because its meaning cannot straightforwardly be determined from the meaning of its parts.
e JSG ) Srar o) ) e 2083 o) S Y Sl O s 138

- In sum, the lexicon includes all the linguistic forms: (regular, irregular, simple, complex, normal, not
normal, etc.) that speakers know and use.

(L e 5 31 5l ) Aall) Al Lgaiinny 5 Lgd ymy ) g sall) JISEY) JS Jady el anmall 1Aiadal)
- Aslong as such forms are used, they must be stored in the mental dictionary (the lexicon).
slixl) aaall (the lexicon) (il Guseldl) 8 4533 0585 ) Gang Lgdld z3laill s aladin) L5y Lalldal
Neologism : Baaa adadl

- When a word that does not exist in the lexicon is created through a morphological rule, we call it:
neologism.

3 A8l neologism Lale Glhi ¢ o yuall 308 JMA (e o sal@ll A Lgd 5 Y AS oLl oy Larie
Example: e-mailer

- If this neologism is used once and never again, we call it: occasionalism.

occasionalism. dxa e lede (3l 1o 3 )30 3 ja a2 ol g 83a) 9 5 ya Baall Jadll) 13 alasiud o5 13)
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Productivity:

- A productive rule is the one we can use frequently to form new words.

- Some affixes are often used to create new words, whereas others are less often used, or not used at all
for this purpose.

- The property of an affix to be used to coin (invent) new complex words is referred to as the
productivity of that affix.

Baaa S Q] ) e (S8 Ll LiSay 3aclE o 14aliY) sacldl)
LY e Gl g a2 ¥ gl Gla¥) e S (8 AY) () aladiad J8 e A e Sl Y aadind L LiLe a5l sy
43l o3d productivity 4tV aul — Ll HLi g Baaa 3a8ea dalS (SH) dlaaS 223505 (3al lll ilSlies

- Not all affixes possess this property to the same degree, some affixes do not possess it at all.

- For example, suffix ‘-th’ (as in leng-th) can only attach to a small number of specified words, but cannot
attach to any other words beyond that set.

- This suffix can therefore be considered unproductive.
LY e Gllia Y claad ey ol Guaiiy CilSliad) 3 @llias Bal 5l JS Ca)

elli Cald 3 ke 5 I Lgiilal (S coNNOtoSls Sl (e dane JiE axe 8 Laid Lgidlial (S [@ng-th 8 WS th 4@ Jial due e
Ac saadll

unproductive. aaiia e 483 oda jliie) Say Sl

- Even among affixes that can in principle be used to coin new words, there seem to be some that are
more productive than others.

_LA):\'sQAZ,,;&\)':\S\&\ﬂ\uaqéusO\,Jﬁ‘ggqgwscwyﬁdemd\iw\&:\;wu&u;ﬂ\@;bﬂ\wé}

- For example, the suffix ‘-ness’ (as cute-ness) gives rise to many more new words than, for example, the
suffix ‘-ish’ (as in fool-ish):

‘happiness, sadness, homelessness, ..... etc.’

- We can think of the degree of productivity of suffixes and prefixes according to the following shape:
ness -ize -mis -ee -eer -al -th -ter

Goodness globalize misrepresent invitee profiteer refusal warmth laughter

More productive less productive

- The more you go towards the left, you get more productive affixes 4dle il e Jiass |l olaa¥l

- The more you go towards the right, you get less productive affixes 4Ll il Je Joass L olaiVl
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Blocking

Blocking:

- blocking is the phenomenon whereby the existence of a word with a particular meaning inhibits the
morphological derivation of another word with precisely that meaning.

L Gilladll nall pe (5 a0 AlST 8 puall LBl pia Ly (el e e Sl 0 ga s ) Cua 3 alls 54 blocking )
Example:
- ‘Cutter’is blocked by the existence of the lexical item ‘knife’

- Thatis, people do not normally refer to the tool that they use to cut things as ‘cutter’ (from the verb ‘cut’)
since there is already another word that gives that meaning; i.e. ‘knife’.

‘knife’ & eazall jaiall J8 e 4 53ae ‘Cutter’:Jis

O G 'KNife’ e oAl Al @llia Gl 4Y (out’ Jedll (e ) ahal@l Ll Ao oludV) adadl L sardiany 3101 () sale el ¥ Gelalle Ul
. el 138 calac

In the same way:

- The ‘day after today’ is blocked by the existence of the lexical item ‘tomorrow.’
- The ‘day before today’ is blocked by the existence of the lexical item ‘yesterday.’

- ‘This day’is blocked by the existence of the lexical item ‘foday’, unless in a particular context like in the
sentence:

1 remember this day when | met him'
- ‘stealer’ is blocked by the existence of ‘thief’.
AR yhl) (i
‘tomOorrow.” s aaxs u 255 e nalis ‘day after today -
‘yesterday.’ s seaze 23 e i The ‘day before today’
(e dlaadl e Gare 3w (S V) 'fOday’ anme 2 255 e aiis This day’
‘I remember this day when | met him’

‘thief. s aaze 225 Jo ais ‘stealer
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Lecture 7
In this lecture, we will talk about: 108 Cnaaldl (5% g ) 128
Morphological rules o pall 2ol B
1. Compounding S il —agll aliay Las

- It is the combination of two or more free morphemes.
() 5 Oatl) o~ 50 e ST AT 8
Examples:
Girlfriend, chalk dust, undergrowth, blackbird, offload, seasick.
- Note that English compounds may be written separately
e JSI 4 538 (585 38 4y julai¥) Aalll (8 LS el o a3l
Types of compounding

Types of compounding:

(A) Endocentric Compounds: endocentric & i il Gl

- The compound is an instance of the entity, activity or property denoted by the last constituent

(component/part).
(s 0nf paic) S pe 6 3 Al dlaud s GlSliadl o) bl e Jay (25 QLS o z35a3 58 Sl
Houseboat is a type of ----------- > boat
Boathouse is a type of ----------- > house
A person who is seasick  is ----------- > sick

- Thus, the right-hand constituent (last constituent) in endocentric compounds is the head.
(,l) g s endocentric compounds &l i sl b (S el e o 3 531) Gad) 6 el 0 sS3 ld Jull

- Thatis, the element that determines the semantic and grammatical characteristics of the whole

compound.
S e IS P il paibaddl g AVall saay puaial) O ¢ e
Examples:
Houseboat is a type of ----------- > boat (head) il
Boathouse is a type of ----------- > house (head) SUBY
A person who is seasick  is ----------- > sick (head) il
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More examples:

coffee table, telephone table, dinner table, chess table, word stress, strawberry jam, silkworm, diesel motor,

bookshelf, etc.

[V N] - > N:
crybaby, filing cabinet, reading class, writing table, drinking water, etc.
[A N] ----------- >N

blackbird, redbrick, wetsuit, greenhouse

[Preposition N] ----------- > N:

outhouse, outgrowth, undergrowth, offprint

bloodthirsty, pain-free, theory-neutral, colorblind, class-specific, sky-blue

- Note that: endocentric compounds always take the same inflection as the right-hand element (the

head):

() ¥ il W liiely olai¥) i 230 Wails endocentric compounds <l i ol Ly

- For example:
[ANJ ---mmmem >N:  e.g. greenhouse
[[green]A [house]N] -------> N

- Greenhouse is a type of house.

- The compound is a houn because house is a houn and its plural is greenhouses because houses is the

plural of house.

house.—! e« 2 housesoY is greenhouses s aeall 5 aul 8 house Y aul 5o S il

(B) Exocentric Compounds: exocentric compounds &l i suS) LS 3

- Here, the compound does not refer to an entity denoted by either constituent (component).

(ainll) oY) jeainll Wand g Jars QLS ) el ¥ S yall olia

-  Examples

a ‘paleface’is not a type of face, but a person who has a (pale face).

(sirall (B ABle a0 Y ) g face g5 e g Al J eds Y paleface «Sual o) e g JUA 138 8 L
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More examples of Exocentric compounds :

[N NJ] ----------- >N
Paleface, redskin, redneck,
highbrow (serious), bigfoot
[V N] ----moee >N
pickpocket, spoilsport, killjoy, answerphone (Australian term for ‘answering machine’)
[V Particle] ----------- > N:
handout, putdown, sit-in, walkout, breakdown, fallout
[P_N] ----------- >N

afterbirth, afternoon, underground

- Note that: exocentric compounds do not necessarily have a constituent with the same syntactic
category as that of the whole compound.

- Thus, ‘sit-in’is a noun, but does not contain a noun.
SISl 8 A il A5l e oS () B 5 el Gl @xocentric compounds LS e ksl
(u.u\ L;‘C- Lﬁ}@ Y ﬁg} (';.ul\ EY) ‘sit-in’ cgtm_}}

- (C) Copulative Compounds: Copulative Compounds—il sulS Sl 5

- - Here, both constituents refer to the entity denoted by the whole compound.

Sl Al Al 53 LI I i (<l sSall) jualial) S clia

- Examples:

An owner-builder ----------- > is both: ‘an owner’ of a house and ‘its builder’.

More examples:

producer-director, singer-songwriter

owner-builder, maidservant

[AA] - > A: (rare):

bittersweet, deaf-mute
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(2) Affixation: done before (see relevant lecture).

(3) Base Modification: Joanil) 3c 18

- Here, we change the phonology of the base segmentally and suprasegmentally:
segmentally and suprasegmentally e &l (e Gl pa¥) ale jpis Lild (La
(A) Segmentally: i.e. changing a sound
Mouth /maue/  noun
Mouth  /maud/ verb
Change: voiceless fricative to voiced fricative.
- Sometimes, the modification takes place along with affixation (e.g. adding the plural morpheme ) like in:
wife — wives.
Gl Jidl A LS s aeall o) 50 ddlal Jis (affixation) byl ae Giasy Jaaail) (ual¥) Gany
- Modification can also take place in relation to a vowel sound:
Alall Cag ya ARl me Caaay o)) Sy Jpaall
Mouse -- mice
foot -- feet

(B) Suprasegmentally

- This happens in English through ‘stress.’
(sl 5 5) Jaacall DA (g 2 3l 2alll 8 Caany 12a
EX. ‘Contact (noun) anl 4 IV 6 3all b daxaal)
Con'tact (verb) Jad 45Y D ¢ el 6 dasial)

(4) No Change of Form:

- Some words that have inflectional or derivational relationships, keep the same form.
IS G e Ladla LS A8LERE) ) Ayl el 38D L) LS iany

A- Zero Inflection: el s Gaas Y

Fish (sing.) fish (plural)

B- Zero Derivation (Conversion): GHELE) i Gaaad Y

Fish  (noun) to fish (verb)

Clean (Ad].) toclean  (verb)
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Hard

(5) Base Shortening:

A- Backformation

(Adi.)  hard
il - yuaatl) ¢l
..S e BJL&J

(Adv.)

- Is a word-formation process in which a word of one type (usually a noun) is reduced to form another
word of a different type (usually a verb).

_(MQ)SSLQEAL::)JN'“ iﬁwwé\d&m\ il (W\Q)SELABJE)A;\J&)SQAUSLM Hale o

Edit (V) from
Televise from
Donate from
Opt from
Enthuse from
B- Clipping Lalaidl 5 jalaidy)

editor (N).
television
donation
option

enthusiasm

- Here, we shorten a word without changing its meaning or its part of speech.

- This occurs, for example, when a word of more than one syllable (e.g. telephone) is reduced to a shorter form
(phone), often in casual speech.

Gm)ad‘ sl & Ll phone ) alids telephone Jia tL'“ e ) e 0 S A;d\ LK jlaial o Ladie (Ul Jans e Cuasy 1aa

Examples:

Polio from Poliomyelitis

Lab. from Laboratory

Cab. Cabriolet

Ad. Advertisement

Fan. Fanatic

Sitcom. Situation Comedy

Exam. Examination

Prof. Professor
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- Names as well are sometimes clipped by English speakers as in:

A eV ARG fanid) 8 e QLAY Gany b (Oai) jeaiad X slanY)

Sam. from Samuel
Tom. Thomas
Rick. Richard
(6) Alphabet Based Formations: O el g dpaaay)
A- Blending z e

- Here, we merge two words by taking only the beginning of one word and joining it to the end of the other
word.

GAY) S e ) Lt saal s AalS Ay 383 A (e (pialS madi opai Lin

Examples:
Stagflation = stagnation + inflation
Slanguage = slang + language
Bit = binary+ digit
Brunch = breakfast + lunch
Motel = motor + hotel
Smog = smoke + fog

- To refer to the mixing of languages: Glalll & Lkl ) juds

Spanglish = Spanish + English
Franglais = French + English

B- Acronyms G paiaall

- They are words that are coined from the initial letters of words in a name, title or phrase.
- Typically, acronyms are pronounced as single words
Bokal) o ol siall 5 a8 LS e V) Cag el (e glal Gl Gl 8
Baal 5 AalS S Sl e (d V) Cayal) Bl Ly ke
Example:

AIDS = acquired immunity deficiency syndrome.
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CD = compact disk

PIN = personal identification number

VCR = Vvideo cassette recorder

Laser = light amplification of stimulated emission
Radar = radio detecting and ranging

ATM = automatic teller machine

of radiation

Syntax and Morphology
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Lecture 8

In this class, the following point will be covered:

What is syntax? filaall € 5 osa L
Predicate

FINITENESS vs. NON-FINITENESS

What is syntax? filaall € 5 osa L

- As mentioned earlier in this course, linguistics has different branches, including, phonetics and
phonology, semantics, pragmatics, sociolinguistics, syntax, morphology, etc.

- Inthe last classes, we studied Morphology.
- In this class and the next ones, we will be concerned with the study of syntax.

S i peall 5 sl 5 deLain ¥l il gallly Aglee |yl AVall dle g ol sl le 5 il guall Glld 5 Ley iline g 5 L il galll o Wil S3 LS
1]
LA

Morphology —s rxall ale L )3 o d¥I ugpall A
syntax deall el dul 5o ied Cogu ¢ agall 028 4
Syntax:
- Syntax (originally Greek) = ‘putting together’/ ‘arrangement’.

- Syntax is a branch of linguistics that studies how the words of a language can be combined to make
larger units, such as phrases, clauses, and sentences.

- Thus, when we concentrate on the structure & ordering of components within a sentence = studying the
syntax of a language

Syntax JSal) g W el Lgan pe <ol y g Gy Jua¥) A3l & Syntaxd)
Saall g aSall g &l jlall Jia puSH o g 3 jedanl 4all) 8 SLalSH o aand) 88 (g pn oA by galll & 5 8 (e g % 8 Syntax ddeal) oW
Aalll 8 dleadl ol Al o = 138 Capayrdlead) Jaly Gl sSall i 35 ASia e 38 5l die o Ul
- Now, let us consider the following sentences: Ll dleal) & Hhill ead bea GY)
This egg loves elephants.
The sandwich ate the boy.

- These sentences are all instances of correct syntactic structure. But they are nonsensical
(unacceptable in meaning).

(il Al pie ) ina ol el ol 805 ccs sl € ) Anmaa el oa
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- Syntax is primarily concerned with whether a sentence is "properly put together" rather than whether it
is meaningful, or silly or bizarre.

Au e gl Addn o Fae 1D ilS Y L plaill iy s S0 Gaes Alaad) S 1Y) L JgY) alall A Sl syntax dlead) S i
What sentences actually mean is the primary concern of
Js¥1Hladl 8 semantics. AYall 4 dgi e sa a8l gl (A Jaall i 13l

- More examples of non-sense sentences with clear syntax:

- Colorless green ideas sleep at night.
- Averb drank the milk.
- | gave the question an angry egg.

- All these sentences are said to be syntactically acceptable, but semantically unacceptable.

Ll Al e Lol L pat Al pie Lgil Lgle i () LSy Al a2

Predicate Jeldll adde ity oA Jadll ga 5 iy Jeld e dlaall (g giat Lo sale 5 Jeldll alad Lo e jody (3) a5 )

- As mentioned above, in syntax we concentrate on the structure & ordering of components within a
sentence.

- Sentences are characterized by words that share a structure and form a single expression.

- Linguists often divide a sentence/clause into two main parts: the subject and the predicate.

- The predicate: expresses an event in the clause and typically centers on a verb, but it includes as well
any phrases modifying the verb (e.g. an object or any phrase selected by the verb).

5% clause s» Ahmed loves ¢ Js& s Ahmed loves Pizza Jis 4ilzé 5 Jeldl s8 — Clause
Alaal) Jaly Gl Sl i iy JSaa e S 5 syntax dleadl s 5 o) e U S3 LS
Ay iy JSS5 S i el il Al GladSIl Caa 5 o8 Jaal)
iy deld G ) (pand el ) dlaad) (5 e L Wle ARl elale
8okall (& Jadll s (6 @IS Jady 4y o Jadll e 58 5 Lesale 5 clause 58 b o e oy 1(2iall) )
- A sentence(s) is a combination of a:

Noun Phrase (NP) and a Verb Phrase (VP).

The NP Subject
The VP Predicate
Example
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- Susan called Paul.
Susan = subject NP
Called Paul = VP: Predicate headed by the predicator call.
- He bought a car.
He = Subject NP
Bought a car = VP: Predicate headed by the predicator Bought

- One parameter for classifying languages is to consider the unmarked (Normal) order of the elements of
a sentence.

- With the guiding factor being the position of the predicate (VP) in the simple declarative
clause/sentence of the language in question.

Gl mosaall Aleall i 5 pealing slaia ¥l ga Aalll Coial Jal o (40 2al
Ainall Aalll e Aleall /Adapud) Anlal) 3 88l 3 Lgaia ge (55 il 4pa 5l ale pe

- Thus, languages are either said to be: Sl 8 Al s i

(@) SOV (i.e. subject + object + verb) ; e.g. Japanese
(b) SVO (i.e. subject + verb + object) ; e.g. English

(c) VSO (i.e. verb + subject + object) ; e.g. Arabic

Examples
English: Mary bought a book. SVO
Arabic: LS 5ol & il VSO

- Notice that a sentence can be a simple sentence; i.e. a sentence that contains just one clause;
therefore, has just one predicate.

L& i Lol oS8 il s one clause b sas) b8 e g sint dlaall of (5 Adapn Aloa (585 O (Sar Aaal) o) oY

Example:

All of the following sentences consist of just one clause.

- It does not matter how long a simple sentence is.

- Sentence 'c'is still a simple sentence because it contains just one predicate, therefore one clause.
- A-John |eft.

- B- These boys like football.

- C- The first-year students in our department should read a lot of books at this stage in the year.
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- - Notice also that a sentence can contain more than one clause:
one clause Mibs sty i e V) 6 5iad ¥ Y Ao dles J1 5 Y Cileall age e ddagud) dlaall Jsh Baa) 5358 e (g 5iad Jaall JS
Example:
'| tried to reserve a room, but the hotel was booked'

- The above sentence has two clauses:

- One based around the construction ‘tried to reserve’
- The other around ‘was booked".
‘was booked'J s> s AY s'tried to reserve’ Sl 1 Jsa saai ¥ dleal)
FINITENESS
- As mentioned above, a sentence typically has at least one clause.

- Traditionally, we say that a clause is made up of a subject (the performer of the verb’s action) and a
predicate (the verb and its objects).

- The simple sentences in ‘A, B and C” above stand alone: they aren’t attached to any other clauses, and
are therefore called INDEPENDENT CLAUSES/SENTENCES.

- In English, and typically in other languages, an independent clause must contain.
. one clausesaal g3 i J8Y1 Je cacah sale dlaall S 55 el o Wil <3 WS
(42 ds2idll 5 J=dll ) predicate sl 5 (J=dl) ) Jaalls a5ty e 58) subjectdeld (e oS5 clauses &l o) Jii s oo JSiy
a FINITE verb e (s 6iad o cany Al 3 58 o gAY Clalll 8 sale 5 Ay 5yl Aalll 4

FINITE verbs: have tense and/or person and number inflections.

- That s, they are marked for ‘tense’ information and agreeing in ‘person’ and ‘number’ with the subject

Ziania) GaAIYI 51 (&) 5 e ¢ bl canls) 3320 o 5 (& poibe — g Jbma)e s S I o SFINITE verbs s2siaad el i3 Jud¥)

Y GalaiY) e Jeldll (38 55 el (e il slae A8 jaa Adan) gy a3 JadY) 028 13¢5
-  Example:
He plays the guitar.
- The verb ‘play-s’ is FINITE.

you played the guitar ¢S bl (el G e oy s J2dll @l o 5 you play the guitar GBI asiall JF ST Eaatiall U e ol
finite au¥! 132 play d=dll e (sllay 1A

NON-FINITE verbs
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- are NOT marked for tense, agreement or any other grammatical categories associated with the FINITE
verbs.

FINITE verbs 52 sasall Jlad ddasi yall 4y sl ciliall cpe (of 4881 50 5) a3l (3 5l (se Cayad ¥ JlxdY) 028
- Averb form that does not indicate person or number 3l 5l salasdl s i) ol axy ¥ Jedll JS

- NON-FINITE verbs include:

(A) infinitives (the bare verb stem with no inflections such as the verbs coming after:
'to, must, should, and other modals:
(e.g. to play, must play, etc.)
JEal 8 JladY) Jie @l gl e stem ole dadl) Jeday :radl dasa — A

(B) participles: verbs after ‘have, has, had’ (e.g. has played, have played, had played)

‘have, has, had’ >~ J=dl participlesdell sl — B

(C) gerunds: V +ing (e.g. like playing).

ing + Jadl : jaadl cles) — C
Examples:
1- John left.

left’is a FINITE verb

Why: it tells us the tense of the sentence aall 8 Gl oo LAl LY cuild Jadll 12
2- These boys like football.

‘like’is a FINITE verb

Why: it tells us the tense of the sentence, and agrees in number and person with the subject ‘these
boys’.

‘these boys’ Jelill & alai¥l s aaall 38 55 dleal) b el G Uil 43 Liay) Caiigls Jadll 138

3- The first-year students in our department should read a lot of books at this stage in the year.

‘should’is a FINITE verb

Why: it tells us the tense of the sentence. dleall & (e 3l (e Ui pa) LY s Jadl) 138
4- Her friend speaks many languages.

‘speaks’is a FINITE verb aall 4 el e L ua) Y cnls Jedll 18

5- you have never understood it
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-The FINITE verb is: ‘have’
- Why: it tells us the tense of the sentence, and agrees in number and person with the subject ‘you'.
‘you’ Jeldll b (alaiVl g aaedl (381 555 Alaall 3 (e 3 (oo U pud) 43Y Loyl il Jadll 138
- The NON-FINITE verb is: ‘understood’ <iiuli sU‘understood’ J=4//
- Why: it is a participle a participle <V
- Some constructions contain one FINITE verb with a NON-FINITE verb.
NON-FINITE verb 5 one FINITE verb e S| il ax
Example:
| tried to reserve a room.
-The FINITE verb is: ‘tried’
- Why: it tells us the tense of the sentence
- The NON-FINITE verb is: ‘reserve’
- Why: it is an infinitive ( a verb used after ‘t0’) infinitive T 3 S J=2dll ¥
- These are counted as part of the same clause.
- A FINITE verb can be either a MAIN verb or an AUXILIARY verb:
A- John left.
B- These boys like football.

C- The first-year students in our department should read a lot of books at this stage in the year.

delue Jad 5l ooty J28 S o) WA FINITE verb  .clause 88l usi (e ¢ 28 audag ¢ jall 138

- In A and B, the FINITE verbs are MAIN verbs (left and like), but in C the FINITE verb is an AUXILIARY
(should).

2elus Jad 8 FINITE verbd) C Jid) & ¢S ¢ (left and like) 4wy Jl=dl s FINITE verbs 3 A and B Jéd)

- Notice that an auxiliary always co-occurs with a main verb as in C: auxiliary 'should' co-occurs with the
main verb read’. () d=d a0 Ll aeluall Jadll o) JaaY

- Consider also the following examples:
1- These boys like football
2- These boys don't like football.

- The FINITE verb in 1 is the main verb 'like’
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- Butin 2 it is the Aux. (don't), which co-occurs with the main verb 'like'.

- As the examples above illustrate, in English only one verb in any clause can be FINITE. When we have a
sequence of verbs in English, the FINITE verb always occurs first in the sequence:

o a5 Ll (5% Levie . FINITEGSS: o e Clause 58 (sl b 1 aal s e i & 5lail) 2800 6 (Gilad) JBl b mampe 58 LS
FINITE verb J s& 058 d28 J) (G .8 A3 Jg) (B 055 Wala FINITE verb dadll 4, julas¥) 2alll & Jlady)

Example:

The students may have been studying late.

- Even where there are three auxiliary verbs (may have been), the first, and only the first, is FINITE.

FINITE & Js¥) l8d g J oY) Jadll ()9S rsaclioe Jladl 432 e g iad dlaall S Sa

Practice: FINITENESS

Identify the FINITE /NON-FINITE verbs in the following:

- We shall see him tomorrow FINITE /NON-FINITE tense — infinite
- John watched the movie. FINITE tense

- John wanted to watch the movie. FINITE /NON-FINITE tense — infinite

- John must have watched the movie. . FINITE /NON-FINITE

- She told him that they were studying at home. FINITE /NON-FINITE tense-ing

- Samuel likes tea, but Amy doesn’t. FINITE /NON-FINITE
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Lecture 9

Outline of lecture

In this class, the following points will be handled:

Clauses 3 - alad e Jelil)
Phrases and heads

Word order

Clauses

- Clauses come in a variety of shapes and sizes.

- A matrix clause (or an independent clause or a main clause) contains a finite verb only (a verb that
is marked for tense, person, number) and can stand as an expression in its own right.

- An embedded clause (or a dependent clause or a complement clause) can contain a FINITE (or
NON-FINITE) verb, but is structured to be attached to (embedded in) a main clause.

Al s JSBY) e de siie de sana 3 5 (34 Clauses

(222l g (alaiY) o) el Cayay 531 Jadll ) L 3 gasa J=i finite verb onlyle s sisd (a0 8580 o) Al 5 558 ) 5 jaall 48 shias
A sgia 0S8 Alaal) ) (ra L33 aa (e | et aa 68 Ol (S

Embedded = to be inserted within/to be enclosed- Clauses= Group of words that make part of a sentence

A€ 50 4553 Sl @ FINITE (or NON-FINITE) verb cesaii o) (Seall (g (ALSall 5 58800 o) Aliie ol 5 jiall )-diladll- A5 5 jasl)
4 )l 3 sl (embedded in) () ddlas o S

- Example:
- Matrix clause Complement clause

- 1- He saw a movie

- (finite)

- 2- She wanted to stay

- (finite) (non-finite)

- 3- She told him that he should stay
- (finite) (finite)  (non-finite)

- Dependent clauses are also called "subordinate clauses”, and they can contain, as above mentioned, a
FINITE or NON-FINITE verb

a FINITE or NON-FINITE verb e s 5iai o)) (S 5 4ae j3 5 % 5 subordinate clauses = (s Aliive sl 3 sl
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Example: consider the dependent clause ‘that he should stay’ in the following sentence:
She told him that he should stay
(finite) (finite)  (non-finite)

- On the other hand, independent clauses might be referred to as "main clauses”, and they contain finite
verbs only, as aforementioned.

283 GBaw LS finite verbs only (e (s st 5 45 3,8 & L Ly ol (S Al 3,80 (5 A1 4al (e

Example: consider the following independent clause:

He saw a movie
(finite)
- consider also the independent clause ‘she wanted’ in the following sentence:
She wanted to stay
(finite) (non-finite)
- Only embedded (dependent) clauses can have a complementizer (that, for, whether, if, etc.).
(that, for, whether, if, etc.). sl aliall el ) (S embedded (dependent) clauses ks

Example:

He claimed that he saw Kim

She wondered whether Kim left

For you to beat him was unexpected

- Only main clauses have subject/auxiliary inversion (in yes/no questions).
(in yes/no questions) dleall uSe aclue / Jold clla 2y )l 5 8l Lais
Example:

If you see John, will you recognize him?

(dependent clause) (main clause)
*If do you see John, you will recognize him.
Did she claim that John saw him?

*She claimed that did John see him?
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Practice:

Which clauses are dependent? Which are independent?

- There's a lot to learn in syntax. (dependent clause)

- He asked me if | arrived safely. (dependent clause)

- If you can't find your way, please ask for help. (dependent clause)

- John having left early, we left too. (dependent clause)
MOOD

- MOOD: Each clause has mood. Mood has to do with two sets of distinctions:
_(a\j)&sw)éj)ﬂ\wogc,m &A;\é)\s‘dJ}A\ Cdge (e OsSE B 8 IS s Jasll JISE) de gana (e 2a) s st MOOd 2 sell

(1) The distinctions between: O 3yl

- Making statements (Declarative) - el ) (S Ay s dles -
EX. She met John in the park.

- Asking questions (Interrogative) - olgdinl — Al 7 5k -
_EX. Did she meet John in the park?

- Issuing commands (Imperative). - Y Ba — el gl laal -

_EX. Open the door
(2) The distinctions between whether the speaker/writer presents an event as:
S ) o ey SRS S 1) Le g DAY

- Possible Saina
_EX. He may have left.

- Afact felia
_EX. (He did leave).

- We might also classify clauses based on the kind of information they share:

- Relative clauses

- Interrogative clauses

- Existential clauses
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- Conditional or hypothetical clauses.
& s Al Glasbedl £ 6 sy clausesd) cuiat ik
(1) Relative clauses: dadll Jaa
- Give more information about a noun. ¥ e SIS Sl glan aad
Example: ‘I knew’in: ‘you are not the man | knew’.
(2) Interrogative clauses: dsalgdivg Jaa
- Ask a question directly: ilae 5 Jlsadl
Example: he asked, ‘Are you happy?’
- orindirectly: il e (<G )
Example: he wonders ‘whether you are happy.’
(3) Existential clauses: 253 50L dald e

- In English typically begin with ‘there is or there are’. — 15 L 4, 3l 42l 8 3sale

Example: There is a mouse in my room.

(4) Conditional or hypothetical clauses: Luda) ) o) Ay Jan

Example: If you study hard, you will succeed.

Examples:

Who is he? (direct interrogative clause)
...... who he is. (indirect interrogative clause)
There is a cat in this house. (Existential clauses)

...... that | saw yesterday (relative clause)

- Of these, notice that the second part of conditional clauses, as well as the existential and direct
interrogative clauses are independent.

- The others are subordinate clauses.
Al Jen (8 5 bl dpalgdinl] 53 gl dalad) Jaadl Gl g 43k il Jaad) (e AU ¢ 3all o) LY

Ao g Jen oeb Jandl L L
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That is:

Phrases

Every phrase contains a head, which is the major content or function word within that phrase.

Phrases are named after their heads:

- A noun phrase is headed by a noun
- Averb phrase is headed by a verb
- A prepositional phrase is headed by a preposition.
Boball Gl 8 ALK Agda 5 o) st Sl (g sanzmall sa g ol ) e (s iaT 8 e JS
et 138 5 Alaall Gl ) o Leihand &5 G sl
el Aleall Gl G813 4enY) AlesVIA noun phrase -
Jad dlaall () (S 130 41x8 Aleal) A verb phrase -
oo daall ol g8l a5 s dleaA prepositional phrase -
Example head phrase type
the book book NP (noun phrase)
the Spanish book book NP (noun phrase)
in the Spanish book in PP (prepositional phrase)
goes to the store go VP (verb phrase)
gives it to him give VP (verb phrase)
Practice:

Identify the head of the following phrases, and name the type of phrase:

at the airport, at PP (prepositional phrase)
read the book, read VP (verb phrase)

a tough question, guestion NP (noun phrase)

the man, man NP (noun phrase)

on the sofa on PP (prepositional phrase)
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Word order

Basic word order dondy) clalsl) a5

- Languages most often have a way of ordering the basic constituents of clauses (e.g. subjects, verbs
and objects).

- Using this classification, we can begin to consider how languages arrange their words.

- In English, finite clauses have the order subject-verb-object (the dog ate the bone or he saw me).

- The subject and object are noun phrases, while the verb heads the VP which contains any object NPs.
- In English, word order is fairly fixed.
- But notice that the verb comes first in direct interrogative clauses with have or be or do:

(42 Jsmiey Jeld cdad ) Jaall i) ol sSall i i Ja g 5 48 Hla clliad Le Llle clalll - -

Aad JS 8 Gl G 3 AaS 8 phall Tan of LSy il 13 aladiuly -

(the dog ate the bone or he saw me) 4 Jsxée — Jad -Jeld 1 i 5l 10a elliad sagall Jaal) oy plai¥l a2l & -
NP doall 45 J saie (sf e S VP daladll Alaall Gl s Jadll 0 a8 daand dlas Lad 43 Jsrdal 5 Jeldll -
LY S G e il a5 ¢ Al AR 8 -

have or be or do g 38kl Apalgfiny) Jaall A Yol AL Jadll o a3 o<1y -

- Example:
Are you happy?
Has he left?
(verb-subject rather than subject-verb).
- The objects of verbs may be subdivided into direct objects and indirect objects.

- Direct objects: usually immediately follow the verb (like ‘The book’) in the following sentence:

odle e pile 4 Jsmie (ppand ) danadl Sy Jadll () 4y J g=ial)
S8 JS dadll aiy Lesale 1 (Ldlall) 4 J gl
Ex. He read the book.

- Indirect object: are often expressed periphrastically, as prepositional phrases (like fo him’) in in the
following sentence:

ol CGagoa daa Jie s eapali JS Lgie Haadi Le 18 (Ll aadl) 40 J szl
Ex. | gave him the book

| gave the book to him.
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Reordering words: tdaadl i i Bals)

- When two words switch places, the switch is known as ‘inversion’ .
- For example, in the question: ‘are you happy’?
- As mentioned above, the subject ‘you’ and the verb ‘are’ don't follow the basic word order subject-verb.

- ltis often said that the subject and verb are inverted when asking a question with ‘have, do, be’in
English.

- Another way to consider changing word order is to look for a word that moves, where it moves from and
where it moves to.

- This concept has a simple name: movement.
- From this point of view, we might say that:

- ‘are’in the question ‘are you happy?’ has moved from its original position in ‘you are happy’to a new
position before the rest of the phrase.

‘inversion’ osSall sl il o (o ey Joadll 138 ¢(pialS (8Ll Joagi e

subject-verb Gllsll i i sac B iy ol are s J=éll 5 you s» Jell ‘are you happy’?: Jis

oY 4l 8 ‘have, do, be’ aladiuly Jisad) & sl die (s sSaa (558 dadll 5 deldll ) Jliy L i

movement: s 4le Bl o sedall 38 ) 5 e JE5 Cua AlaEa Gl e Gl oo SlalSl g 5 s 8l 6 A0 45 )l ol
Aleall L J8 aoa 1850 I ‘you are happy’ & o) lexd e e Jii 8 JIsadl 8 ‘gre” (ol J sl LS 1A

Expanding phrases: i jladl g Jaall ddeLiae

- Speakers of all languages don't just rely on basic word order and movement to build sentences.
- We can expand simple sentences by adding material in the form of new words and phrases.
daall ol o LSty 5 dleall i 5 Gl o Ladd ) saaiey ¥ lalll JS (4 () faaiall
sl Jaall s lalSl) 0S5 8 5ale Ailial YA (e Aapad) Jeal) dicline LSy

- Forinstance, we can expand:

‘language’ into: ‘a language’ and, further, into: ‘a difficult language’.

- Adjuncts: are extra phrases such as ‘at the store’ or ‘in September’ that we can add to verb phrases
(like ‘bought it’) to form:

Sl Adadl) Jaall ) i) LiCay ) “at the store’ or ‘in September’ Jis idlal & e s :Adjuncts 4ual o) ala

‘bought it at the store’
‘bought it at the store in September’.

- Notice that the material we added to ‘bought it’ all branched to the right.

L cpall e cunis 8 ‘hought it ) wlisal Al sald) o sy
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Lecture 10
In this lecture, we will talk about:
- Linguistic competence 4 gl sl
- Linguistic performance @ salll elay)
- Communicative competence Aglial gl 3elasl)

Grammatical/Linguistic Competence
- Chomsky (1965) made a distinction between 'grammatical competence' and 'performance’.

- Competence: refers to the linguistic knowledge of native speakers, an innate (inherent) biological
function of the mind that allows individuals to generate the infinite (unlimited) set of grammatical
sentences that constitutes their language.

- Thatis, linguistic competence is the unconscious knowledge that native speakers share of their native
language.

- ltis the speaker's internalized grammar which enables him/her to speak and understand language.

- Itis what the speaker must know in order to be able to perform.

- ltis the speaker’s implicit (hidden/unseen) knowledge of the rules of his language; i.e. speakers'
mental grammar.

- Linguistic competence includes also the speaker's intuitions (instincts) about the syntactic structure of
sentences of his language.
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- For instance, with respect to the following sentence:
John likes very fast cars

- any speaker would agree by intuition that ‘very’ modifies ‘cars’ (and not likes) and that ‘very fast’
modifies ‘cars’ not John.

John s ‘cars’ e Jusd a3 ‘very fast’ <liS; likes ouds “cars’ diseis Ladi ji ‘very’ O e 381 Giasta g L

- The grammar designed by a linguist is said to be a model of the speaker's competence; i.e. a model of
the speaker's internalized/unconscious grammar.

- A model in the sense that it attempts to outline the kind of knowledge the speaker possesses, which
enables him to use language creatively.
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- Thus, grammar is a device capable of producing and interpreting all the well-formed (correct) sentences
of a language.

A gail) ae) 8l 23 gal L) Lﬂ;i Lol 5o leS) Lad gad ) oS8 "ARlll 3 BEsy ) Wl g linguist e ¢ Creana Ay galll e ) @ -
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Performance

- Linguistic competence is clearly related to linguistic performance.

- Performance: refers to the actual use of language in concrete situations. It is the speakers’ ability to
use the unconscious knowledge of their language (which is represented by their linguistic competence).

- There is a large measure of creativity associated with linguistic performance; e.g. most of the
sentences children experience are novel (new). ‘
5l oY) pe eal g U a5 Ay sl BeleSl) -
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The differences between linguistic knowledge (competence) and linguistic performance are revealed,
for instance, though slips of the tongue. Consider the following example:

bl Y 5 IO e JE) i e ¢ ey o sl 12V 55 LK) Ay galll 38 el oy (30

Example: when a speaker refers to the ‘queen’ of England as:
‘That queer (strange) old dean’ instead of the intended: ‘that dear old queen’
- He knows that the queen was not a ‘dean’ and was not ‘strange’.

- Everyone makes errors, and often we catch ourselves doing it and correct the errors.

- This shows that we know what is the correct form of the word, phrase, or sentence which is involved in
the error.

- Memory lapses (pauses/gaps) sometimes prevent us from remembering the beginning of a sentence,
producing errors like the following sentence in which a singular ‘he’ is mistakenly used instead of the
plural ‘they’ to agree with the plural subject ‘John and Smith’:

‘strange’ oS5 ol s dean S5 ol Skl of aley KISl
Lemanaaiy st g Lelhad) ) catils o Gla¥) e 58S 8y celhaal ¢ S 1 asenl)
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‘John and Smith’ Jelill they aeal)

- Example:

John and Smith went to the cinema, where he spent the night.

- The fact that people make occasional "slips of tongue" in everyday conversation does not mean that
they do not know their language or do not have competence in it.
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- Slips of tongue and like-phenomena are performance errors attributed to a variety of performance
factors like: tiredness, boredom, drunkenness, external distractions.
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Communicative Competence
- The question now is:
- Is linguistic competence alone enough for successful communication?

- In fact, the competence that speakers of a language possess must include their ability to handle the
various uses of language in different contexts.

- It should include a wider range of abilities than the linguistic competence of the Chomskyan tradition.
- As linguists say the most important function of language is communication.

- Successful language use for communication entails the existence of what is called 'communicative
competence' among the speakers of that language.
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- Communicative competence : can be defined in terms of three components:

A U S DA (e Ll et (S Abial) gill Bl -

(1) Grammatical/linguistic competence 3 salll Ay saill 3Ll
(2) sociolinguistic competence Jaagil Y selell
(3) strategic competence. Jaar) iy 5.l

(1) Grammatical competence:

- It means the acquisition of morphological rules, phonological rules, syntactic rules, semantic rules and
lexical items.

- Such rules enable the accurate use of the words and structures of a language.
- Today grammatical competence is usually called ‘linguistic competence’.
Agaaal ) sall 5 VA 5 4 gail) el gl 5 Blaill 5 (ol ae ) B QL) el
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(2) Sociolinquistic competence:

- ltrefers to the social and cultural norms that enable speakers to use the language appropriately
according to the ‘social context’.

- That is: formal contexts (education, political speech, etc.), informal contexts (a party, a social
gathering), the addressee (parents, friends, bosses), social class (low class, high class), sex (males,
females), age (children, adults), etc.

- This is important because different situations call for different types of expression/way of speaking.

- For example, if one says 'good-bye' in greeting someone, it is inappropriate in a particular social
context.

- To take another example, when you speak with your boss at work you use a different language from
the one you use with your friends.

- Thus, besides knowing the structure of language (grammatical competence), speakers have to know
how to use language (sociolinguistic competence).
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- We do not achieve much if we only know the structure of a sentence such as:
Can you lift that box?

- You should be able to decide whether the speaker wants to discover how strong you are (a question) or
wants you to move the box (a request).

Can you lift that box? : Jis 4 jxall (e &I I Jea ol Lild Jasd dlaal) (S 5 Ld e 13
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(3) Strategic competence:

This is to do with the knowledge of verbal and nonverbal strategies in order to:

(a) compensate breakdowns (such as self-correction),

(B) enhance the effectiveness of communication (e.g. Guessing meaning from context, tolerating ambiguity).
sdal e Akl el 5 Akalll Cilai) VL alad) ae Jandl & 3l o2
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- A clear example explaining the meaning of strategic competence can be obtained from Second Language
Acquisition (L2 acquisition).

- Thatis, In L2 use, learners experience moments when there is a gap between communicative intent
(what they want to say) and their ability to express (to say) that intent.
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- Some learners may just stop talking (which is a bad idea).
- Others will try to express themselves via a communicative strategy (which is a good idea).

- For example: an Arabic L1 speaker who wanted to refer to ‘horseshoe’, but he does not know the
English word .

- So, he used a communicative strategy by saying:
The iron things which horses wear under their feet.
-This flexibility in language use is a key element in successful communication.
- In essence, strategic competence is the ability to overcome potential communication problems in interaction.
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Lecture 11

In this class, we will cover the following points:

1- the meaning of GG

2- the properties of GG

3- deep and surface structure

Generative Grammar

What is Generative Grammar

Earlier approaches to syntactic description attempted to produce an accurate analysis of the sequence
or arrangement of elements in the structure of a sentence.

- While this remains a major goal of syntactic description, more recent work in syntax, especially generative
grammar, has taken a rather different approach in accounting for the sequence of elements within a sentence.
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Generative grammar: The dominant theory of syntax is due to Noam Chomsky and his followers,
starting in the mid 1950s and continuing to this day.

sl s 8 yaina s 1950 Chuaiia (e Al el 5 Sona 8 o g8 Alaall ol le d diaggal) 4kl AR a0 ) 6B dsalil)

This theory has had many different names through its development (Transformational Grammar
(TG), Transformational Generative Grammar, Standard Theory, Government and Binding Theory (GB),
Principles and Parameters approach(P&P) and Minimalism (MP)).

However, this theory is often given the blanket name Generative grammar.
" 52 TG —TGG- ST S o LS la okt 3 53 DA Adlidall clawd) o Sl @lliag culS 4y kil o2
Generative grammar ~b 4kl ol asi e Lle « Ja JS e

A number of alternate theories of syntax have also branched off of this research program; these include
Lexical Functional Grammar (LFG) and Head Driven Phrase Structure Grammar (HPSG). These are
also considered part of generative grammar.

Definition: Through generative grammar, Chomsky attempted to produce a particular type of grammar
with a very explicit system of rules specifying what combinations of basic elements would result in well-
formed(correct)sentences.

Head ;5 (LFG Lexical Functional Grammar) dedis : Jaall malipll 138 Cuads 8 dleald) clll Al Sl plaill e pp2ell cllia
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- This explicit system of rules is similar to mathematical rules.

Ml I Gyl se il adie 58 Gl ) (e gl sl Al 18
Some properties of GG

Properties of GG include:

1- The ‘all and only’ criterion:

- The grammar will generate all the well-formed (correct) syntactic structures (e.g. sentences) of the
language.

- The grammar will fail to generate any ill-formed (incorrect) structures.
- (in other words, ‘all’ the grammatical sentences and ‘only’ the grammatical sentences)
GG aalll ac) g8 dualiil (alliad
‘all and only’ Jbxe -1
Mrana il S Aise all) 3 Jead) IS iy (o s Al 2c ) 48
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Example: (A)

John met Richard yesterday. (well-formed/acceptable to native speakers)
Yesterday, John met Richard. (well-formed)

*Met John yesterday Richard. (il-formed/unacceptable to native speakers)
* yesterday met John Richard. (il-formed)

(B)

She went to America last week. (well-formed)

Last week, she went to America.  (well-formed)

*Went she last to week America.  (ill-formed)
*America week went last to she. (il-formed) Etc.

2- The grammar will have a finite (limited) number of rules, but will be capable of generating an infinite
number of well-formed structures.
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- -Thus, the productivity of language (i.e. the creation of totally novel, yet grammatical, sentences) would
be captured within the grammar.
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- Example (A): speakers can understand/produce a sentence like the following one, even if they have
not seen a sentence like it before:

;G;L»M\éhdh\j&mﬁg,XL;;BJ:\A;QLASGE\}?@OJ%Q}SM\

- In 2006, a star suddenly became 600.000 times more luminous that our sun, temporarily making it the
brightest star in our galaxy.

- Example (B): through the rule that says that English is an SVO language (i.e. English sentences follow
the order of subject + Verb + Object ), we can produce an infinite (unlimited) number of new sentences,
as follows:

Saaall Jeall (e dgana e e A0 ) WiSad ¢ 4 J srda -J28 -Jeld 4 5lasY) 4Gl 8 Aleaadl i 5 o J585 ) Bac Wl JBIA (e

John met Sam. She bought a new house.
The boy ate the sandwich. They sold their car last year.
| like reading. He plays football every weekend.

That is, an endless number of novel, and grammatical, sentences
saall Ay il Gl il 5 Jaadl (e (gl pe d3e ga A

3- Recursion criterion: the rules of this grammar will need the crucial property of recursion, that is, the
capacity to be applied/repeated more than once in generating a structure.
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Example: (A) repeat prepositional phrase more than once: B s e S gall gy dlas ) SS

The phone was on the sofa.

- Now, where was the sofa? Near the door. Okay, where was the door? in the hallway. This recursive effect
can be put into a single sentence:

The phone was on the sofa near the door in the hallway beside the .....
The same recursive rule applies to the prepositional phrases in the following:
- The gun was on the table.
- The gun was on the table near the window.
- The gun was on the table near the window in the bedroom.

Example (B): Put sentences inside other sentences that = sale Jagi yi Ll Jaadis 6 A daa Jaly A "dWal"

- Mary helped George
- Cathy knew that Mary helped George.
- John believed that Cathy knew that Mary helped George.

- The same recursive rule applies to the phrase ‘that hit the dog’ in the sentence: ‘this is the man that hit
the dog’.
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- We can create an endless series of other phrases and embed them into the previous sentence, as

follows:
‘this is the man that hit the dog’:ilesl) & ‘that hit the dog’ s_lul & didas ) Sl ac & i
A5l dlead) 3 Ledlaol s giie e Aia il jle oS3 LiSay
This is the man that hit the dog that bit the cat that chased the rat that ate the cheese that......

- thus, there is no end to the recursion which would provide ever-longer versions of this sentence, and
the grammar must provide for this fact.

- Basically the grammar will have to capture the fact that a sentence can have another sentence inside it,
or a phrase can have another phrase of the same type inside it.
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- 4- Deep and surface structure: the grammar should also be capable of revealing the basis of two other
phenomena:

L et Gulal e sedall e 3 508 (4S5 o g 4y 2lll 2o ) 8l - Deep and surface structureueall s sdaudl S )
FEirst: how some superficially distinct (different) sentences are closely related (similar in meaning):
"l (8 Aglia" 88 5 Uals ) Adadi e by a8 jaaiall Jaall Gam o) S o A gY)
Ex. Adam sold the house. (Active sentence)
The house was sold by Adam. (Passive sentence)
It was Adam who sold the house.
Adam was the one who sold the house.

- The difference between these two sentences is in their surface structure (the syntactic form they take
as English sentences), that is, one is an active sentence and the other is a passive sentence.

- However, at some less ‘superficial’ level, the two sentences are very closely related, even identical, in
the deep structure; i.e. meaning.

- So, the grammar must be capable of showing how a single deep structure can be represented by two
different surface structures (e.g. active and passive structures)
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- Second: how some superficially similar sentences are in fact distinct (structural ambiguity).
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Example: Suppose we have two distinct deep structures (i.e. meanings) expressing:
1- Sara had a stick and she hit a man with it.
2- Sara hit a man and the man happened to have a stick.

- - Now, these two different concepts/meanings can be expressed in the same surface structure form, as
follows: ‘Sara hit a man with a stick.’

This sentence is structurally ambiguous as it has two distinct deep structures (meanings/interpretations) which
are expressed in a single surface structure.

- Thus, we can say that:
s 1- Sara had a stick and she hit a man with it.:JEl & Jxall e il (g jaaie Cpiiee S 5 ellad Wl i yiai)
2- Sara hit a man and the man happened to have a stick
JUall 138 Jia Mg pallall " Ladass LS 5 4SS je Baa 5 Alany Lagie udll (Sane Jinall g o sgdall 8 (pilise (i (Y15
LCliRe uina A aal g g el S5 Aleall w28 8 Sara hit a man with a stick.’
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- Structural ambiguity occurs when two distinct deep structures representing two different concepts/ideas are
expressed in the same surface structure form (i.e. the same sentence).
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- More examples on structural ambiquity:

(A) ‘One morning, | shot an elephant in my pyjamas.’
- Phrases, as well, can be structurally ambiguous:
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(B) ‘young boys and girls’ the deep structure can be
‘Young boys plus young girls’
OR
‘Young boys plus girls’
L lall an 2V Y S o) 1 jlkua ab il 5 2 Y1 () 0 5Ss o) Ll (liine Jany JUial) 38
- The grammar should be able to show such differences which lead to structural ambiguity.
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Exercises on structural ambigquity

In what ways are these expressions structurally ambiguous?

- We met an English history teacher
- Flying planes can be dangerous structurally ambiguous

- The parents of the bride and groom were waiting outside

- The students complained to everyone that they couldn’t understand.

- Visiting witches can be dangerous structurally ambiguous
- The boy saw the man with a telescope structurally ambiguous

- She loves ballet more than her friends
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